
Le Quantità indicate possono essere soggette a variazioni
GOBID INTERNATIONAL AUCTION GROUP SRL
VIA P.O. VIGLIANI , 19
20148 MILANO
P.IVA   09441470961

Pag 1

Lista Completa

Tribunale di Bari
Fallimento N. 04/2017

Prog. Descrizione Codice Quantità U.M.
1 PROFILO MONTANTE grezzo CPRF-MONR9010 52 kg
2 PROFILO MONTANTE verniciato 309 kg
3 PROFILO CHIUSURA grezzo 650,6 kg
4 PROFILO GUIDA TAPPARELLA grezzo 182 kg
5 PROFILO CHIUSURA 8017 verniciato 47,6 kg
6 PROFILO GUIDA TAPPARELLA verniciato 39,5 kg
7 PROFILO MONTANTE GREZZO CPRF-MONR1013 1272 kg
8 PROFILO GUIDA TAPPARELLA ORIENTA grezzo CPRF-GTPR9010 364,8 kg
9 PROFILO MONTANTE ORIENTA 9010 CPRF-MONR9010 206,7 kg

10 PROFILO GUIDA TAPPARELLA ORIENTA 9010 CPRF-GTPR9010 53 kg
11 FONOASSORBENTE GRIGIO ADESIVO CXXX-FAS25 60 mq
12 SPAZZOLINO da 5 mm CXXX-SPZ02 2000 ml
13 BARRA ESAGONALE CH13 ZN (4 b.da 3 mt) (1(0 3,45) CXXX-E13-FE38ZN 10,4 kg
14 PIATTO LAMINATO 30X8 FE380 (1 barra) (28,4 kg/b) CXXX-PT030X8FE38 79,2 kg
15 TUBOLARE 80x30x3 FE380 (3 barre) CXXX-TB80X30X1F 36 4 ml
16 TONDO TRAFILATO D8 - FE380 (12 barre) (2.90 kg/b) CXXX-TNDTR8-F36 5,8 kg
17 TUBO 030 S4 - FE380 (416 barre) CXXX-TUB30S4FE36 2580 ml
18 TUBOLARE OVALE 50x30x3 FE360 (31 barre) CXXX-TV50X30X3F36 66 ml
19 MOTORIDUTTORE 80 Nm FAAC CELE-MOT8ONM 2 pz
20 MOTORIDUTTORE TAPPARELLA 30 Nm EDOLINE 2 pz
21 MOTORIDUTTORE TAPPARELLA 50 Nm EDOLINE CELE-MOT3ONM 2 pz
22 MOTORIDUTTORE TAPP 3 F C. 30 Nm NICE 8 pz
23 VITE TE M6x12 ZN 300 pz
24 RONDELLA PER M6 ZN 2000 pz
25 VITE TBEI M6x10 ZN 1 pz
26 DADO M8 ZN 1 pz
27 VITE TCEI M8x85 ZN 400 pz
28 ACERO INSERTO FILETTATO M5 PCRE-0001WO1R0 100 pz
29 CREMAGLIERA 143 2197 pz
30 BOCCOLA ED ESPANSIONE X 30x4 PBOC-0003R0 200 pz
31 BUSSOLA TUBO X 30x4 PBUS-0001R2 200 pz
32 NOTTOLO CORTO PNOT-0001R1 200 pz
33 TAPPO SERRATURA PTAP-0002R1 169 pz
34 COPPIA FIANCO H260 P400 PFLA-0001VVO2R0 36 cp
35 COPPIA FIANCO H365 P360 PFLA-000 IWO7R0 60 cp
36 COPPIA FIANCO H385 P400 PFIA-0001VVO8R0 38 cp
37 SUPPORTO FINECORSA MOTORE 045 (ELEROIFAAC) PSUP-011D45R0 36  pz
38 SCATOLA MOTORE ELERO - Nm 50 DX PSCT-0001WO1R0 14  pz
39 ALBERO MOTORE ELERO PALB-0001RO 248  pz
40 ALBERO MOTORE MECC 50 CAME/EDOLINE 16  pz
41 BOCCOLA PBOC-0002R0 1190  pz
42 COPPA OLIO PCPP-0001R0 1050  pz
43 BOCCOLA FINECORSA PBOC-0001 R1 183  pz
44 GIUNTO GREZZO NETOMA PGIU-0001R1 160  pz
45 ASSE RUOTA RINVIO 018 L45 PASS-0001 RO 160  pz
46 ASSE RUOTA RINVIO D18 L30 PASS-0002R1 480  pz
47 ASSE RUOTA RINVIO D18 L45 PASS-0003R1 1565  pz
48 PIGNONE 318" S Z12 FOSFATATO PPGN-0001RO 892  pz
49 PIGNONE 318" D Z12 ( SVG -SVR ) FOSFATATO PPGN-0002R0 538  pz
50 PIGNONE m4 Z12 • 318' Z12 (SVG -SVR) FOSFATATO PPGN-0003R0 40  pz
51 PIGNONE m4 Z12 - 318" Z12 CORTO (SVA ) FOSFATATO PPGN-12004R0 52  pz
52 RUOTA DENTATA MI 5 - 228 FOSFATATA PRUO-0003R0 454  pz
53 PIASTRA RINFORZO PPST-008R1 24  pz



Le Quantità indicate possono essere soggette a variazioni
GOBID INTERNATIONAL AUCTION GROUP SRL
VIA P.O. VIGLIANI , 19
20148 MILANO
P.IVA   09441470961

Pag 2

Lista Completa

Tribunale di Bari
Fallimento N. 04/2017

Prog. Descrizione Codice Quantità U.M.
54 PIASTRA RINFORZO SPESSORE PPST-009R0 105  pz
55 STAFFA SUPPORTO ASSE RINVIO H260 PSTA-0004R0 100  pz
56 STAFFA SUPPORTO ASSE INGRANAMENTO H280 con battuta dx/sx PSTA-011YSOR1 174  pz
57 ZANCA P2NC-0001R0 310  pz
58 SUPPORTO ASSE TAPPARELLA PSUP-0007R0 20  pz
59 STAFFA CUSCINETTO TAPPARELLA PSTA-0006R0 100  pz
60 STAFFA MOTORE TAPPARELLA PSTA-0007R0 192  pz
61 SUPPORTO LATO MOTORE DX PSUP-0008R2 103  pz
62 SUPPORTO LATO MOTORE SX PSUP-0008T2 136  pz
63 SUPPORTO PIGNONE PSUP-0010R0 20  pz
64 STAFFA MOLLA PSTA-0008R1 588  pz
65 COPPIE CENTRATORE TAPPARELLA SX DX PCEN-0001R0 3000  pz
66 TAPPO PROFILO SX + dx PTAP-0005R0 2500  pz


	Tabella1

